
55 
Turbofan E33T Convection Oven ©  Copyright Moffat Ltd.  30 August 2021 

Amendment 10 

235633 SIDE COVER LH D 

1 

239764 SIDE COVER LH (SPWY Only) D 

239770 Side Heat Shield 

239772 Keyhole Bush 

041036 Screw 8B x3/8 Pan Phil NiPl 

2 235632 TOP PANEL D 

3 235634 SIDE COVER RH D 

4 232379 ADJUSTABLE LEG / 73 - 80mm D 

5 232380 FOOT O-RING 45 x 3.5 C 

6 235666 DOOR ASSEMBLY (Complete) C 

Number of Units In-Service. 

A 1-5

A+B 5-10

A+B+C 10-50 

A+B+C+D 50+ 



56 
Turbofan E33T Convection Oven ©  Copyright Moffat Ltd.  30 August 2021 

Amendment 10 

*RPL

7 236214 LAMP HOLDER (Bulb Included). B 
8 231814 LAMP G9/25W 230V HALOGEN. A 
9 242092 GASKET. A 
10 021352 GLASS LENS. A 
11 021353 SUPPORT FRAME. A 
12 235615 OVEN SEAL A 
13 010761 GROMMET 1½” RUBBER D 

14 
236109K OVEN ELEMENT KIT 5800W 240V (Item 236264 is supplied with this Kit). B 
236110K OVEN ELEMENT KIT 5800W 220V (Item 236264 is supplied with this Kit). B 
236264 ELEMENT GASKET (not shown) B 

15 234138 FAN 8½” / 220mm C 
---- 235420 FAN PULLER / TIGHTENER (not shown) C 
16 235610 MOTOR SHAFT SEAL B 

17a 235625 FAN MOTOR 4/8 POLE, 2 SPEED (Half - Quarter Speed - FIR). B 

17b 

236053 CAPACITOR 6.3uF QC  60Hz  (Used with 235625) B 
236053K CAPACITOR 6.3uF, 60Hz, Relocation Kit  (Used with 235625) B 
236054 CAPACITOR 8uF QC  50Hz  (Used with 235625) B 

236054K CAPACITOR 8uF, 50Hz, Relocation Kit  (Used with 235625) B 
18a 237335 FAN MOTOR L7 - EB50 2/4 POLE, 2 SPEED (Full-Half Speed - Hanning) B 

18b 

234252 CAPACITOR 10uF QC  (Used with 237335). B 
234252K CAPACITOR 10uF Relocation Kit  (Used with 237335) B 
234875 CAPACITOR 3uF QC  (Used with 237335). B 
234875 CAPACITOR 3uF Relocation Kit  (Used with 237335). B 

18c 237482 SPACER 
18d 237341 MOTOR MOUNTING PLATE STUDDED 
19 234821 OVERTEMP THERMOSTAT 355°C / 670°F A 
21 234802 FUSE HOLDER 16A 250V (not Korea) D 
--- 234803 FUSE 10A (not Korea) A 
22 235611 COOLING FAN 92 x 92 x 25, 230V B 

Number of Units In-Service. 

A 1-5 

A+B 5-10

A+B+C 10-50 

A+B+C+D 50+ 

18d 

18a 

18c 

17b 

17a 

18b 

Note: 
Change to Hanning (237335) Motor 
for NZ/AU/UK Market only. 

Serial Number Breaks: 
AUE33T5-2 1890187 
NZE33T5-2 1890187 
UKE33T5-2 1890188 

Model Designation Changed to "-2" 

Note Added March 2022 - ECO22873 



57 
Turbofan E33T Convection Oven ©  Copyright Moffat Ltd.  30 August 2021 

Amendment 10 

*RPL

23 236057 OVEN RACK D 

24 
237109 SIDE RACK LH 5 TRAY (1/1 GN) D 

238727 SIDE RACK LH 4 TRAY (Half US Pan) D 

237015 SIDE RACK RH 5 TRAY (1/1 GN) D 
26 

238728 SIDE RACK RH 4 TRAY (Half US Pan) D 

Number of Units In-Service. 

A 1-5

A+B 5-10

A+B+C 10-50 

A+B+C+D 50+ 



58 
Turbofan E33T Convection Oven ©  Copyright Moffat Ltd.  30 August 2021 

Amendment 10 

*RPL

27 021057 SPRAY NOZZLE ASSEMBLY C 

29 241800 WATER TUBE ASSEMBLY KIT 

30 020869 FEMALE CONNECTOR �” BSP TO ¼” COMP D 

32 020851 WATER SOLENOID A 

Not 
Shown 

025922 ADAPTOR BRASS ¾” BSP.  (USA / CANADA ONLY) D 

021527 WASHER RUBBER.  (USA / CANADA ONLY) A 

33 026160 TERMINAL BLOCK D 

34 026161 CABLE CLAMP D 

35 019213 SNAP BUSH Ø 31.5 D 

37 308155 CONTACTOR AUX N/O DILM7-10 3kW 24VDC 20A B 

38 236217 CONTACTOR MINI  3P+1NC 24VDC (Used with 235625 Motor Only) B 

39 235696 RELAY SINGLE POLE, DOUBLE THROW, 20A, 24VDC B 

40 235695 RELAY SINGLE POLE, SINGLE THROW, 30A, 24VDC B 

41 235698 TRANSFORMER 208/240V, 24V, 40VA QC TERM B 

Number of Units In-Service. 

A 1-5

A+B 5-10

A+B+C 10-50 

A+B+C+D 50+ 

29 

30 



59 
Turbofan E33T Convection Oven ©  Copyright Moffat Ltd.  30 August 2021 

Amendment 10 

42 236203 DOOR OUTER GLASS ASSEMBLY C 

43 237167 DOOR HINGE SET (INCLUDES TOP & BOTTOM) B 

45 041045 SCREW 8 x �" TRUSS HD PHL NP D 

46 234779 INNER GLASS RETAINING CLIP C 

47 235652 DOOR INNER GLASS ASSY C 

48 234767 INNER GLASS PIVOT SPACER D 

50 235105 DOOR STRIKE ESCUTCHEON WASHER C 

51 236014 DOOR STRIKE PIN ESCUTCHEON C 

53 
231804 SINGLE STEP LOCKING DOG C 

231805 DUAL STEP LOCKING DOG  (Optional) C 

54 041444 SCREW M4 x 16 CSK POSI HD NP D 

55 236019 INNER GLASS LATCHING BUSH D 

56 236218 ACTUATOR MAGNET BRACKET STUDDED C 

57 235849 ACTUATOR MAGNET PIC MSM-328 C 

58 236198 DOOR LATCH COVER B 

59 748056 SCREW M4 x 8 SKT HD CAP D 

60 235859 DOOR HANDLE ASSEMBLY D 

Number of Units In-Service. 

A 1-5

A+B 5-10

A+B+C 10-50

A+B+C+D 50+ 



60 
Turbofan E33T Convection Oven ©  Copyright Moffat Ltd.  30 August 2021 

Amendment 10 

Number of Units In-Service. 

A 1-5

A+B 5-10

A+B+C 10-50

A+B+C+D 50+ 

1 235817 HINGE TOP BRACKET B 

2 235823 HINGE TOP PLATE ASSY B 

3 235820 HINGE BOTTOM BRACKET B 

4 235822 HINGE BOTTOM PLATE ASSY B 

5 234680 DOOR HINGE PIVOT PIN B 

6 045214 WASHER M8 NORD-LOCK T316 B 

7 236299 BOTTOM DOOR HINGE GASKET B 

8 236298 TOP DOOR HINGE GASKET B 

9 748047 SCREW M5x16 CSK PHIL HD ST/ST THRDLOCK B 

10 748058 SCREW M5x16 HEX HD SS B 

11 045024 WASHER M5 SS B 



61 
Turbofan E33T Convection Oven ©  Copyright Moffat Ltd.  30 August 2021 

Amendment 10 

61 235660 CONTROL PANEL LAMINATED D 

62 

236258 
TOUCH CONTROLLER KIT (General Market)  
(includes nuts for mounting to Control Panel) A 

240063 
TOUCH CONTROLLER KIT (E33T / P83T-UC  Speedway) 
(includes nuts for mounting to Control Panel) A 

240099 
TOUCH CONTROLLER KIT (E33T / H10T  Dominos) 
(includes nuts for mounting to Control Panel) A 

240103 TOUCH CONTROLLER KIT (C-Store)  
(includes nuts for mounting to Control Panel) 

A 

239353 TOUCH SCREEN DISPLAY / PAD KIT (Screen Only) B 

63 237448K OVEN TEMPERATURE PROBE KIT (T-Series) B 

64 235700 USB CABLE PANEL MOUNT B 

65 236206 EL SOCKET CO E TE  - T SE IES C 

66 235848 REED SWITCH C 

67 235701 USB PROTECTIVE CAP D 

68 236192 DOME PLUG 15.9 D 

69 228132 TUBE CLIP #5 D 

70 
233865 BADGE MOFFAT  (depends on market). D 

233867 BADGE BLUE SEAL  (depends on market). D 

72 235845 CORE TEMP PROBE (PT1000) B 

73 235847 DUST CAPE CORE TEMP SOCKET D 

74 236486 CORE TEMP PROBE HOLDER C 

Number of Units In-Service. 

A 1-5

A+B 5-10

A+B+C 10-50 

A+B+C+D 50+ 



62 
Turbofan E33T Convection Oven ©  Copyright Moffat Ltd.  30 August 2021 

Amendment 10 

SK33 - Stand for E33. 

Stand SK33N - E33 Ovens (for 1/1 GN Pans - AU / NZ / UK / 
XP). 

Stand SK33U - E33 Ovens (for US 1/2 Pan and 12 x 20 Pans - 
USA / Canada). 


